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Attempt all questions.
All questions carry equal marks.

ayt gv7 FAF 4
gt gy & HF THA B

1. (a) From the following data, determine the current
income of the assessee for which order can be
passcd under section 210(3) by thc Assessing
Officer for the assessment year 2012-13:

Assessment Assessed/Returned Amount

Year income
2006-07 Assesscd income 9,000,000
2007-08 Returned income 11,00,000
2008-09 Assecssed income 8,00,000
2009-10 Returned income 7.00,000
2010-11 Returncd income 6,50,000
2011--12 — Return not yet filed

fyafeafEgd g9 wwm @ fufft 9t sdor e
fauffia #fed foeds a3 fAufr afusEd g
fagfen ad 2012-13 & fod @@ 210(3) & Hdra
;2w uria fFar @ ud

fraiTo 59
200607

- 2007-08
2008-09
2009-10
2010-11
2011-12

fasifra/ fagoon @ ama oy

fruffa ang 9,00,000
faawfing ™ 11,060,000
Huffa sy 8.00,000
faaofta A 7.00,000
fagofinag 3y 6,500,000
- faawii snit zfgs
T #1.m
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(b) The following issues arisc in connection with the

deduction of tax at source under Chapter XVII-

B. Discuss the liability for tax deduction in these

Casesi—

(1)

(i)

R, an cmployee of the Central Government
receives arrears of satary {or the earlicr three
years amounting to Rs. 6,20,000. He
cnquires whether he 1s liable for deduction of
tax on the entire amount during the current
year.

A TV channel pays Rs. 11,00,000 on 1-7-2011

as prizc money to the winner of a quiz pro-
gramme, “Who Will Be a Millionairc™?

{iif) A turf club awards a jackpot of Rs. 5 lakh to

the winner of onc of its races.

(iv} An Indian company pavs dividend of Rs.

{(v)

22.000 on equity shares to a sharcholder on
30-9-2011.

R had deposited Rs. 50,000 under the
National Savings Scheme, 1987 (NSS) in the
vear 1991-92. On 21.10.2011 he withdrew the
sum from the account along with interest and
the total amount paid to him was Rs.
1.80,00).

swrg XVIL-B & afada =g 9t w-sdd 5 g9y
g (qefEf@d q 38 £ & mivel § @RI &
@y zifae 39 (93983 Flad-—

P.T.O.
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(c)

(@)

() ¥=a g F @ FHAd R B @ A7 g
¥ ol 397 ¥ F@7d H w1 F FTWA 6,20,000
M ¥ 58 @A) 9es 8 6 W 98 9w 9y
¥ <us g ofw w R wdd ¥ Ea
2

(ii) TF Hodfle 9w “TA @@IW M FEW
fmy ¥ faow = [EEL AW F# OB A
1-7-2011 & ¥98 11,00,000 2a 2 1

(ifi) U T% Foa g § faea B Fo 5 @@ W
Stz 2 @ 1

(iv) TF 9T @ 30-9-2011 ® © el |

fadl Ny v FEA 22,000 AH(W W AGH
Ezcill

.(v) R 3 ad 1991-92 & 71ty F9g AJA (NSS) &

sfarfa #98 50,000 s {31 21.10.2011 F

ITY FW A A Ak @H T I F= A

I/ e T A '3 1,80,000 o7 5
Discuss the provisions relating to interest payable
under scction 234A for delay in [urnishing the
return of income.

sra {gaweh 3 F fada a5 @2 9@ 234A & Farq
¢ =1a § @dfug suad @ fadaT fAfa) 5
Or (3194

Discuss thc provisions rclating to deduction of
tax at source on rent under section 194-1.

g1 194-1 ¥ e fF03 © = W H oS
T gafag zoadl @ (9399 9 5
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(b) A firm made the following payments of advance
tax during the financial year 2011-12:—

Rs.
15-9-2011 3,00,000
15-12-2011 7,040,000
15-3-2012 2,503,000
12,50,000

= w3 fag a8 2011-12 F Gua A7 = FH
fa=fafEd g &hi—

%o
15-9-2011 3,00,000
15-12-2011 7,00,000
15-3-2012 2,50,000
12,50,000

The income returncd by the firm is Rs. 40 lakhs
under the head business and Rs. 5 lakhs by way of
long-term capital gains on sale of a property
effected on 1-3-2012.  What is the interest
payable by the assesscc ufs 234B and section
234C for assessment year 2012-137  Assume that
the return of income was filed on 30-9-2012 and
tax was fully paid on sclf-assessment. Assume rate
of tax applicable 1o a firm is 30% plus education
cess @ 2% plus SHEC @ 1%.

o T fgAwl § oenm ¥ w9 4 Fmig ¥y
sara R 40 @@ ST 1-3-2012 T WES GH
3 fag W Ad@ia® 1 afveny ¥ w7 F 590 S

g femr % Mgl g9 2012 13 & f@d ¥

P.T.0.
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(c)

2. (a)

(h)

(c)

6

234B i URT 234C & sHaTa Myl gu 29 =
Fa1 27 w7 wifEd e ey faEwmi 30-9-2012 @
aiEd 7% o it @-MAuf e @ qu g
F fgar T gt qe | S @ w1 ang = 2%
T TR e 8, 1% ¥ 2T W SHEC 4w, 30%

&

B 5

What are the consequences when an assessee is
deemed to be in default of payment of taxes?

41 uftona Fin 99 At Auiid o9 =0 1 e
T+ 8 =afasn gaw g2 5

Under what circumstances can thc Asscssing
Officer make a Best Judgement Asscssment
under scetion 1447

fovy uftfmafaal 5 Ay s1f9sd g 144 35 siarq
Faian fgam qfg $ w78 Ayl = gsa 22 5

What is rectification of mistakes and who can
make such reciifications”

el A guTn ¥ 3 ad @ e W qe-mun
T T GHAT 7 7 5

Return of loss submitted by S for assessment year
2012-13 (-~} 4,00,000

Additions made by Assessing Officer: —
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Rs.
(1) On account of questio of law  2,00.000
(2) On account of question of facts 7,00,000
(3) Intangible additions 50,000 9,50,000
Assessed income 5.50,000

Compute the tax payable and penalty imposable under
section 271(1){c).

frafor ad 2012-13 & f@d S oo & W @3 #@

faatii— (-} 4,00,000
fraftn sifuei g 72 ™ afgdt—
lL 7 ] Rs. i
| | (-)4.00.000
) e w000
2y A & T Faw | 7.00.000, B
(3) |s1qd uftads 50.{)00;_4@90_0
Fuff@ s | 5.50,000
5

g ow ait wiv 271(1)(c) ¥ Faa Huuueia wila

FfgEad FAH
Or (31
(a) Discuss the provisions regarding processing of
return under scetion 143(1).
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(b)

(e)

3.. (a)

R 143(1) 35 STe0 G0 s § gEfia svadt
& fadgq wifed | 5

What is the penalty imposable for failure to
maintain books of account as required under
section 44AA and failure to get the accounts
audited as required under section 44AB?

U 44AA ¥ @l ga edfud sdER @

HAGFA T 3 " 44AB ¥ Fwlw gurerifig
d@ #F dA@EEdmw FEn § 9%E w1 W
Ffgdyofig wife a31 27 5

On an addition of Rs. 8,00,000 made during the
course of assessment in the case of an individual
Rajesh, the Assessing Officer has imposed a
penalty of Rs. 2,00,000. What is the remedy
available to Rajesh? 5
s FfF uFRW & ame A fafm F s S dua
To 800,000 % f&d 13 9@y g fufm afver
1 FF 2,00,000 WiE ARfva s 1 udw B

FIT IYTR ITAR § 7

Discuss the procedure for assessment of search
cases.

Jenel &5 amet & faufi & wEar e fa3gw
I | . 5
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(c)

(a)

(b)

()
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What are the powers of the Commissioner
regarding revision of order which is prejudicial to
the revenue?

U9 T Add 99F eEd are ARy 3 gAdae

3 "ay § g A w91 viwal §7? 5

Under what circumstances will the order passed
by the Scttlement Commission become void and
what will bc the consequences of the order
becoming void?

a1 sfferfaal & gowia A= gw i SRy
= @ T i IRY & v A & w= s
#7? 5

Or (319

Discuss the procedure regarding filing of appeal
to Appellate Tribunal.

FAGEA affiaww ¥ arvid if@d = # 9Ema @
fagwsm F@fad 5

What arc the powers available to an authorized
officer during the course of a search conducted at
the premises of an assessee?

fraffdt 3 O ol i 7 qarIn & IEH o Sud
Tifygm AfuFR 3 Iqae wimal a2 § 2 5

Discuss the powers of the Settlement Commis-
sion once the application for setllement filed by
the asscssec has been admitted.

P.T.O.
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frulf o AfEd A gl & eEeT @)
TRW S 9 Al IO 9 wieal s fgeasd
Fifaa 1

R is the owner of a house which is constructed on
leasehold land. He has let out his house to a tenant for
Rs. 12,000 per month. The other terms are as follows:

(i) The tenant to pay half the municipal tax and bear
the full repair cost.

(ify The tenant to pay Rs. 2,00,000 as advance which
will be refunded at the time of vacating the
house.

(iii) The tenant to pay Rs. 90,000 as premium for
taking sub-lease of the property for 5 years.

The annual value assessed by the corporation is Rs.
2,20,000 and the corporation tax is Rs. 20,000.

The tcnant spent Rs. 15,000 on the repairs of the
house.

‘The difference between the unbuilt area and the

spccified arca is 11% of the aggregae area.

R paid Rs. 80.000 for the acquisitien of the land but
now the lessors valuc of the land isRs. 4,00,000. The
Jessor charges 50% of the unearnd increase on the
transfer of « house. The unexpired seriod of the lease
is 60 years.
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Find out the value of the house for Wealth Tax
purpose, if the cost of the building (including land) in
1980 was Rs. 1,40,000.

Assume the house has not been let for residential
purposes.

R US AFE & @i 3, R wgiga qfF v am wa d
@Y HUA g R 12,000 AfEE W O{H0Ud 9 33
I BEcCC i ool Al

(i) ferdEr ane amwfds a Am S B #@ gl
AMTE a8 HU

(i) FeTAEr &9l 2,00,000 Afos ufe & w0 H RIREC
A @l e 3 g9y ol fom Sram

(iify fudEr 5 9 & e d@ufd @ 3e12 W SERET
{fed w73 90,000 Hiffaw M

frmm g0 (uifE ids 9em w98 220,000 ST fm
TR T 20.000 2 |

fmdieR 3 HEEA #@ AOEG 90 EA 15,000 gd &l
afyfda 83 =it Ay 85 § s a9w 87 F 11%
T
R 3 aff % sfguge & (o €93 80,000 5 LT =
g1 fig, w® g & ggieal qed ¥WA 4,00,000 2
Wg‘lﬂf g ¥ FHawm W AAfEE gig F S0% 9IE
FTa &1 U¥ 57 wAafga ey o0 ag R

P.T.O.
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1980 & W& & @rTd (49 @l%d) T3 1.40,000 83 W
¥-8R FAEA & (@d wed @ ge 3 FEd

R @y e ges gl wmEEt ¥ HE EHId W
T8 oo o # 15

Or (394

(#) R Ltd. owns the following asscts on 31.3.2012:

(i) Land situated in rural area: Book valuc Rs.
9.00.004),

() Unused lapd situated in  urban area,
purchased on 7.8.2003, for construction of
factory. Book value Rs. 25.00,000. Value as
per Schedule 1T to the Wealth-tax Act, 1957
Rx. 3:.00.000.

Wi Motor cur: Wriiten down value Rs. 7,00,000.
Value es per Schedule [1I to the Wealth-tax
Act. 1957 Rs, 7.50,000.

(v 3 Residential house: Written down value Rs.
+.00.000.  Value as per Schedule 11 to the
Wealth-Tax Act. 1957: Rs. 4, 90,000.

(v? Gold and Silver: Boak value Rs. 1,10,000.
Vaiue as per Schedule 11 to the Wealth-tax
Act 19570 Rs. 32,00.000.

(vi) Shares  in companies: Book value Rs.
15.00.000. Quaoted value: Rs. 17.00.000.
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{vii) Cash in hand: Rs. 1,40.000
(viil) Bank balance: Rs. 9,40,000

(&} Plant and Machinery: W.D.V. 5,00,000, cost
Rs. 16,000,000, market vaiue 6,00,000.

Assuming that the company has borrowed Rs.
4,00,000 for purchase of plant and machinery (out
of which Rs. 4,00,000 is outstanding on 31.3.2012)
find out the wealth-tax liability of the company
for the assessment year 2012-13.

R Ltd 3132012 = f(I=fafed oftgrfgal @@
wiaeE wEdl ot—

(i) wrdte &3 § fegg g agi@m@ qed 'R
9,00,000 |

(i) Tha &3 ¥ fem avgw qfm 99 7.8.2003 #
m@ % fmin & a2 @l T g9
FE@Ia ged T99 25,00,000 | 99 = AalTay,
1957 F AT I & IFER qew F9d
31.00.000 i

(i) ML T ] §&@ 7.00.000 1 wFEx 37fy-
fygm, 1957 & A7gH [ & 7780 4@ 793
7.50.000 |

(iv) TEEE 9FE: gIfEd 78 ¥ 4,00,000 1 9T
afafrge, 1957 @@ FAgE 1 & JET o
w78 4,90.000 1

(1) A1 ST wiEh adEd 9ew w9d 1,10,000 1 47
T HuEgn, 1957 F g U & aER
ne T 32,00.000 1

P.T. O



14 694

(vi) FfAdl § 991 F@@E g5 599 15.00,000,
IFIT 4 T2 17,00,000 |

(vii) T TFE 593 1,40,000 |
(viii) 9% 91§ T4 9,40,000 |

(ix) §33 T AEid . @iga qe@ ¥93 5,00,000,
dTTd F9 16,00,000, STHT G 6,00,000 |

T "I (% &uA 3 @37 oftt geisd @9 @l = fae
WA 400,000 AR (FF £ (99F ¥ 31.3.2012 ® F0F
400,000 g9 §) @l W fufm ad 2012-13 & (a3

YIS 2gal Jd e | 10
(b) Discuss the rules for valuation of immovable

5. (a)

property for purposcs of Wealth Tax.
yaa NARAl 45 (Al rE 9 # ge & ([EA
T fag=s 93 | 5

Mr. X, a dealer in Mumbai dcaling in consumer
goods, submits the following information pertain-
ing to the month of March 2012:—

(i) Exempt gouds A purchased for Rs. 2.00.000
and sold for Rs. 2,50.000,

(@) Goods B purchased for Rs. 2,25,000 (inclu-
ding VAT) and sold at a margin ol 10% profit
on purchases (VAT rate 12-5%).
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(b)

{c)

15

(iii) Goods C purchased for Rs. 1,00,000 (exclu-
ding VAT) and scld for Rs. 1,50,000 (VAT
ratc 4%).

(iv) His unutilized balance in VAT input credit
on 1.3.2012 was Rs. 1.500.

Compute the Turnover. Input VAT, Qutput VAT
and Net VAT payabie by Mr. X.

ot wEl W qEE oA T ard 2012

Ty | wafum fofafas §aN 3vae s €

() B2 W@ ER A T 2,00,000 ¥ OH i Fwd
2,50,000 & s 1

(i) T B ¥ 225,000 (@2 W) ¥ a4

it @hT T 10% 7Y § AE 1R @
12-5%)1

i) 3% C TWA 1,00,000 § @2 &) T &0
1.50.000 F fasid (3T TW4%) |

(iv) 92 fafge Im1 | 1.3.2012 w3 IgE HHIET Y
sud 1500 a1 evEda, Fafaw dg ffa de e
T T 29 yg dr afraEd fAed ) 3

What are the various rates at which VAT is

charged?

dz s =3 9 fafv= € F §7 3

There are certain cases of purchases in respect of
which generally no input tax credit is available.

Discuss.

P.T.0.
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(d)

(e)

(a)

(&)

(¢)

gl & Fo 08 mwa ¥ ey gremm #1E fah

AN I9E=y g AEr ) faEwn FEd 3

Discuss the salient fcatures ol the exemption

available under Service Tax for small servicc

providers.

|9, WA SIS F FE FI o F Sal7 U

92 & mrEyy fdi W fad=m SR 3

Service Tax is normally payable by the service

provider. Arc there any exceptions?

R L WHEE Ba ¥ 50 39 d@ ) am

T3 99T § 2 3
Or (3792

How arc scrvices provided outside India charged

to Service Tax?

R # |zt vEF IRl @ A= 3w % (R

S A M W f 2 3

[n certain cases service tax is pavable by the

service recipient. Discuss any three.

FB AYAl 7 AF-F AT s zo 3m 9§

g @1 = fagaa s | 3

Explain the procedure for filing of returns under

Service Tax.
Be-F 5 sianq faawmi afEa =3 5 9Fa Ty
FEY | 3
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(d) R of Dclhi purchased goods from X of Delhi for
Rs. 11,25.000 which includes VAT @ 12:5%. R
sold the goods to the following parties:

90% of the goods were sold to S of Dethi by
charging profit @ 20% on cost.

2% of the goods were sold to T of Mumbai by
charging profit @ 25% on cost. CST charged 2%.

2.5% of the Goods were sold to U of Germany by
charging profit @10% on cost No tax was

charged.

Balance 5:5% poods were transferred to the
Branch at Ludhiana (Punjab).

Compute the input tax credit and the sctoff
allowed and the VAT and CST payablo.

freeft & R T fowell & X @ ¥07 11,25,000 =1 419
miT f9gH 12% i e 1 42 wiaw 1

R 3 fyefafgs & 9 a9

900 TIE (2ol ¥ S @ enmd W 20% F WS W
=il

2o wiw qrad & T W @R W 25% & @m W
aan, w9 CST 2%

P.T.0.
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2.5 wre A F U & ar@ W 10% 5 &8 W
A1 P F g9 T fomm T

WY $-5% mE SfedEr (T wE @ odEfE W
e A

fifar = ARy oh S g a1 29 d @l
CST + Afuawer Sfaut 6

10,000



